e T R N N

SECTION 12.10 TAYLOR AND MACLAURIN SERIES O 983

. n] ) [P0
0 {Ez)=2 1
1| -301+2z)* -3
\ 2| 1201+a)° 12
; : 3| —60(1+z)"° | -60
. g 4| 360(1+2)"7 | 360
s positive.

\ " " (4)
(1+2)7 = O+ f O+ L2 L0 20
i L7 5 64 F0SRielaly
=lylhatin ik oa a
= 4822 5 na Ny g gl
TRl e e e b e
X (=1)*(n+2)!z" X (-D)*"(n+2)(n+1)z"
= (=1)7%¢ ' g 2 (=D"(n+2)(n+1)
n=0 2(”) n=0 2
= . | (n+3)(n+2)z™1! 2 . n+3
Jim. 5 Jim. 5 m+2)ntDan |x|nlL1101° = |z| < 1 for convergence,
so R = 1 (Ratio Test).
1" O g 0
In(1+2) = £0) + £ O+ L0024 L7040
n i e F™(0) : : '
e BT ()
0 In(1+ z) 0 =l 5 I 5 b
=1 = i
11 (A+a) ; : =z — 32"+ 22 - £t 4 2,0
2 —(1+x) -1 5 mz :L'3 174 CUS i 0o (_1)n—1 :
8 A ayfr g SRo g tgr it ilaeee e
4 —6(1+x)_4 —6 a xn+1 n | |
1 n+1 =i e e
B¢ 240+ oy [T o ot [ ORI A e T I il K 1 for
convergence, so R = 1.
n n ! 15223
n | f™@) | ¢ )(0) et L
O (%" 1 =
n+1 n |
A S
n—oo QAn n— oo n . e
g Be? 25
3| 5% | 19 il 2 G imilia ke Te
4.5 i s
4 Hieds 625




984

10.

1.

O

CHAPTER 12

F ™ ()

LN = o8

ze”
(z+1)e”
(z+2)e”
(z+3)e”

£ (z)

£ (0)

(-G ST R R e

sinh z
cosh z
sinh z
cosh x

sinh x

€ AESIED L et

()

™ (0)

(o T O AW e ]

cosh x
sinh x
coshz

sinh x

P B

()

Fir2y

SRR U R O S e Tl 1)

1+z+2?
14+ 2z

N R LS S (LT

INFINITE SEQUENCES AND SERIES
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Since a,, = 0 for large n, R = oo.
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